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Answers



12,

13.

14.

15.

16.

17.

fallen over
checks him over
some girls
office

begin to cry v

grins a tearful grin

T e

All 4 correct for 2m
Any 3 correct for Iim

\_

Do not accept: and Nigel grins a tearful grin

and Nigel grins
(a) tearful grin

{he sound their shoes:

make on the floor "

He is

[ am

until Do not accept: {ill; un fil

school has Do rot accept: school is

there will

to indicate

‘belonging to’

I

Iim

lim

All 5 correct for 2m
Any 3 or 4 correct for Im

dim



10.

¢

33.

34.

s [/]

Machine A ‘/I

| I VMachine C [ﬂ

lm

Both correct and no other ticked for Im

’ : Function
I Input OQuipui Machine
27 ‘ 52 J A
36 64 C
22
68 B
16 50 B All 4 correct for Im
i9 Test 207
(—3 . Il Jamd (5 . 13 ) Both correct for Im
kilograms  Accept: kg
2000 (millilitres)
centimetres  Accept: cm All 4 correct for 2m
72 (kilometres) Any 3 correct for Im
23 Test2 07

~J



|

§h. ;
o | Number of fvays _
complefely 43 A5 04
filled .
e — Al 3 corvect for I
" s
30, () P
| 7] ]
)
Both correct for 1m
317. Range
2
(S) (given)
' o
A
All 3 correct for Im
38. 8 (marks) Im

—
39, D
21, 28, 36

Im
40, 50
25 : Both correct for Im
41. (£) 1452 - Im
" _L_..-—-""""FF__ ’éﬁ o "‘ T T't.-slzl};
3 3



25.

26.

27.

28.

29.

30.

Wl Wl ey
H vl Yk ]

fally

threadbare

duswers may he given in either order

Do nof aceepl: roken

anoral
scarf
old
pounded
neglected v
uncomfortable |

That was it (1) :
Do not accept: LET ME OUT!

(a) lever
Accept: a gas lever
Vicki saw a lever

Tiue  Halse

v

Both correct for 1

I

Both correct for Im

Im

Im

All 5 correct for 2m
Any 4 correct for Im

o) o



- |

| g 16 and b is 9 . J"

L
ais11 and b is 14 ]_d

60. Less £21 £51
than £20 to £50 to £100
e
e
s
i1. 6
i2. 64

13. True  False

v
v
v
v
v
14, v

square-based pyramid | v

£101
to £160

v

v/

Btk correct and no others ticked for 2m
One mistake only for Im

All 5 correct for 3m
Any 4 correct for 2m’
Anv 3 correct for Im

Im

Im

All 5 correct for 2m
Any 4 correct for Im

Im



42. 2.0 (mehes) I
Adcept: 260 (metres)
43. false
(rue "
false All 4 correct for 2m
true Any 3 correct for Iin
8. = ™=
L] L]
The experience is = ""
very exciting. \il U Im
19. (the) forest canopy
e Ty Both correci for 1m
20. aged 10 and over Sens / '
experience All 3 correct for 2m
jungle Any 2 correct for Im
21.  (Visilor) attraction of the'year (2005) Im
22. «fatal Im
Do not accepl: safety
risks
23. ves | Mo Which section(s) give
that information?
Albert feels he is nnabie to do
the course. Can he walk along ¥
underneath? Section . B __ -
Can Jason, aged 14, and his
12 year old brother go round Wi
together without an adult? Section € Accept: F
Ed is 16 years old and 1.3m tall. y
Can he go round with his dad? /| Section B
Jay and Sally have three children
aged 10, 12 and 15. Ali the / Sections B (in either order)
smallest is 1.5m tall. Can the ? )
family all go on together? and € 4
All 4 rows correct for 2m
/ Any 3 rows correct for Im
24. ek Im




53, presents
mishi

environment
All 4 correct for 2m

cxpericnces
Any 2 or 3 correct for Im
54, She thinks itisa { f\ D
good place to live. 1

|| L i

55. ‘ ] she is gloomy

[j she is fragile _ | Both correct for Im

56. sorrowful Im

57. ] ]
“ D . D | s'ﬁame E‘ . Both correct for Im

we should care for what we have l

- Verse 2 the child makes the poet feel anxious \

the child from the future feels sad and shocketﬂ

the child from the future is not healthy \ '

‘ at present, we have everything we need '

All 5 correct for 2m
Any 3 or 4 correct for Im

59. W Adjective Adverb |

v/

melted

|\ All5 correct for 2m

Anv 3 or 4 correct for 1m

L



